0001552907448999

(2o—O@ WuLUAXE O0—e—>

2010 4 AR A BERTHR 25 1 [
&

1] [ oz s Ans.

(D) 2By = (x+1)2+ DJZ 7% AR [ A ], yEiARC -3 2 ERBET L, 2
WSy =22—6x+8DJ T 712135,
(2) 22— 4dx+1=0DDVE Dk atTdLX

1 1
at=[v] &+ z=[=]

Thd.
3) ki C 1y =—22°+ 10z —8 & x WHCH I NAESHOMEM S 1%, EHity =kx—Fk (RIZEK) T2%

NING. ZOrx, S= ThHY, k= Thd.
(4) E8x, tizRLT

loge(x+2) =2t —3

PRI DET D, L =402 F Dl ThY, r=—-20LItDfHIX Thd.
(6) =f4 ABCIZHBWT

sin?A+sin?B=sin’C »> 5/A= /B

Thode, LA=[7 |°ThY, NE2ABTS L tan® A = Ths.




